

TO, CHENNAI INTERNATIONAL AIRPORT

Chennai International Airport, Business Class Lounge, CIP Level, Airport Road, Meenambakkam, Chennai, Tamil Nadu 600027

Product: Sicura FB & LNB Coat | Grade: Premium Grade

Sr. No	Floor	Area	Item Description	Reference Image	Material	Quantity	Rate (in INR)	Total (in INR)
01	BCL Area BCL Area		Armchairs Cushions of Same Fabric (31 Pcs)		Nubuck	31.00 Lumpsum	5,500.00 15,500.00	1,70,500.00 15,500.00
02	BCL Area BCL Area		Sleeper Chairs		Suede	17.00	6,500.00	1,10,500.00
03	BCL Area BCL Area		Armchairs		Nubuck	14.00	5,500.00	77,000.00
04	BCL Area BCL Area		Armchairs		Suede	44.00	5,500.00	2,42,000.00

Date: 22nd November 2023 Site No: 2023-24 / NTS / 9LUX / 786R2



To, CHENNAI INTERNATIONAL AIRPORT

Chennai International Airport, Business Class Lounge, CIP Level, Airport Road, Meenambakkam, Chennai, Tamil Nadu 600027

Product: Sicura FB & LNB Coat | Grade: Premium Grade

Date: 22nd November 2023 Site No: 2023-24 / NTS / 9LUX / 786R2

Sr. No	Floor	Area	Item Description	Reference Image	Material	Quantity	Rate (in INR)	Total (in INR)
05	BCL Area BCL Area		Sofa Part 1 Part 2 Part 3		Suede	1.00 1.00 1.00	8,500.00 8,500.00 10,500.00	8,500.00 8,500.00 10,500.00
06	BCL Area BCL Area		Sofa (5 Parts)		Suede	5.00	12,500.00	62,500.00
07	BCL Area BCL Area		Armchairs		Nubuck	14.00	6,500.00	91,000.00
08	BCL Area BCL Area		Armchairs Cushions of Same Fabric (26 Pcs)		Leather	26.00 Lumpsum	5,500.00 13,000.00	1,43,000.00 13,000.00



TO, CHENNAI INTERNATIONAL AIRPORT

Chennai International Airport, Business Class Lounge, CIP Level, Airport Road, Meenambakkam, Chennai, Tamil Nadu 600027

Product: Sicura FB & LNB Coat | Grade: Premium Grade

Date: 22nd November 2023 Site No: 2023-24 / NTS / 9LUX / 786R2

Sr. No	Floor	Area	Item Description	Reference Image	Material	Quantity	Rate (in INR)	Total (in INR)
09	BCL Area BCL Area		Armchairs		Nubuck	18.00	5,500.00	99,000.00
10	BCL Area BCL Area		Armchairs		Nubuck	12.00	5,500.00	66,000.00
11	BCL Area BCL Area		Sofa 1 (4 Parts) Sofa 2 (7 Parts)		Nubuck	4.00 7.00	12,500.00 18,500.00	50,000.00 1,29,500.00
12	BCL Area BCL Area		Sofa		Nubuck	3.00	18,500.00	55,500.00



TO, CHENNAI INTERNATIONAL AIRPORT

Chennai International Airport, Business Class Lounge, CIP Level, Airport Road, Meenambakkam, Chennai, Tamil Nadu 600027

Product: Sicura FB & LNB Coat | Grade: Premium Grade

Date: 22nd November 2023 Site No: 2023-24 / NTS / 9LUX / 786R2

Sr. No		Area	Item Description	Reference Image	Material	Quantity	Rate (in INR)	Total (in INR)
13	BCL Area BCL Area		Sofa (2 Parts)		Nubuck	2.00	18,500.00	37,000.00
14	BCL Area BCL Area		Armchair with Cushion		Leather	1.00	5,500.00	5,500.00
15	BCL Area BCL Area		Chairs		Nubuck	19.00	3,000.00	57,000.00
16	BCL Area BCL Area		Armchair with Cushion		Nubuck	1.00	5,500.00	5,500.00



To, CHENNAI INTERNATIONAL AIRPORT

Chennai International Airport, Business Class Lounge, CIP Level, Airport Road, Meenambakkam, Chennai, Tamil Nadu 600027

Product: Sicura FB & LNB Coat | Grade: Premium Grade

Rate Total Item Description Sr. No Floor Area **Reference Image** Material Quantity (in INR) (in INR) Nubuck 17 BCL Area Bar Area Chairs 11.00 3,500.00 38,500.00 Armchair BCL Area Massage Room Nubuck 1.00 5,500.00 5,500.00 18 (Only Coating) Armchair Nubuck 1.00 5,500.00 5,500.00 19 BCL Area Spa Room



TO, CHENNAI INTERNATIONAL AIRPORT

Chennai International Airport, Business Class Lounge, CIP Level, Airport Road, Meenambakkam, Chennai, Tamil Nadu 600027 Date: 22nd November 2023 Site No: 2023-24 / NTS / 9LUX / 786R2

Product: Sicura FB & LNB Coat | Grade: Premium Grade

Sr. No	Floor	Area	Item Description	Reference Image	Material	Quantity	Rate (in INR)	Total (in INR)
20	BCL Area	Spa Room	Armchairs		Nubuck	3.00	3,500.00	10,500.00
21		Outstation Service Charges (including, material transportation/delivery, travel, lodging and boarding)				1.00	40,000.00	40,000.00
							Total	15,57,500.00
						Le	ss: Special Discount	1,78,714.00
							Total	13,78,786.00
						Add: Applic	cable GST @ 18.00%	2,48,182.00
							Grand Total	16,26,968.00



Standard Terms & Conditions:

- 1.All orders would be accepted only against 100% advance payment & once placed cannot be cancelled and/or replaced with any other produce or service provided by NanoTek Solutions.
- 2.All orders in Mumbai would attract an additional service charge of Rs. 1,500/-, plus applicable taxes.
- 3.Please allow atleast 3 days from the date of payment to commence the work on site.
- 4. The quotation is valid only for 15 days from the date of the quotation, post which the prices may change without further notice.
- 5.NanoTek Coating shall be done on the surface on "as is where is basis" and does not include any cleaning and/or restoration of the surface (unless specifically mentioned). The same shall be chargeable extra as per applicable rates.
- 6.Coatings applied by NanoTek Solutions are designed to make the surface being coating easy to clean & maintain and protect it against only accidental damage from most substances. It does not provide protection against oil, strong food particles, dirty finger marks, pen or ink stains, pet damage, etching and/or acidic substances.
- 7. NanoTek Solutions shall not be responsible for (i) existing stains/marks and/or (ii) stains/marks that come from beneath/inside the surface being coated.
- 8. The Firmlok Coat is only a precautionary coating, and the client needs to ensure general safety and precautionary measures while using wet and slippery surfaces as there are various reasons for accidental slippage.
- 9. NanoTek Solutions does not take any responsibility of the surface being coated and shall not replace the surface and/or any other material that is being coated. The liability of NanoTek Solutions, if any, shall at all points be restricted to the final billing amount.
- 10. Idling of labour due to other work on site or cancellation of site shall be charged at Rs. 7,500/- per day.
- 11. Upon completion of coating, the surface needs to be untouched for a minimum of 24 hours or till such time the coated surface is completely dry, whichever is later. Upon completion of coating, post coating maintenance instructions need to be adhered to.
- 12. After sales service would not be provided until the entire dues of NanoTek Solutions are cleared.
- 13.In case of any dispute, the decision of NanoTek Solutions would be final & binding. All disputes are subject to Mumbai Court jurisdiction only.

Special Requirements or Terms & Conditions:

N.A.

NanoTek SolutionsTM: Complete Range of Premium Coatings & Maintenance Solutions

Pan-India Presence

More than 2,000 projects executed

Other Restoration & Maintenance Solutions